Honors- Electronic Structure Test Review Name

Period

In the space below, write the complete electron configurations of the following elements:

1) sodium st 25725 2"

2)  iron \6¥Z5% 200 257 Dob4st 34%

3)  bromine  15¥25*74635°3,045°343'° 4,5

4)  barium 15%25* 290 357300 45234/ Yob5<7 4% 550 (37

5)  neptunium 1525225357306 457 3d 2 4p¢ 55 2956 G52 4P 154 Gp b 752 Gd' 59 Y

In the space below, write the noble gas configurations of the foﬂo-wing elements:
6)  cobalt LAY 247

7) silver L Kr’_\ 554 cl i

8) tellurium | WY 55 44" 5«_:“

9)  radium LR\ 755

10) lawrencium LRa\Ts*Gd' 5% i

Determine what elements are denoted by the following electron configurations:
1) 1s?2s%2p%3s%3p* _ Ddu\bue

12)  1s%2s?2p®3s4apas?ad 4ptss’ A di ]

13)  [K 5s%4d5p° _Anrinony

14)  [Xe] 6s%4f'%5d° (Os- i)
5 Rel 725 € Foirmiu * Blasteinium showd really be written
) [Rn] 7s ynsteyniuYy a5 [.Kﬂdsflivzéd, B_F o

Determine which of the following electron configurations are not valid. Justify your
answer

16) 1 522322p63s23p‘34s4p5 nex vy a\iA
17) 1322322p63s@ Aot valid
18) [Ra] 79,/?-\51‘8 not vaid

19)  [Kr] 5s°4d'%5p° \/a\icl

20) [Xe] _not \m\'\A ( noble qaes cannot abbre viate
themselve s)
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Modern Atomic Theory Review

Match the definition in Column A with the term in Column B

Answer | Column A

Column B

The set of frequencies of the electromagnetic waves
emitted by the atoms of an element

A-wavelength

travels through space

The minimum amount of energy that can be lost or B- photon
gained by an atom '
A form of energy that exhibits wavelike behavior as it | C- quantum

A three dimensional region around the nucleus of an
atom that describes an electron’s probable location

D-atomic orbital

The shortest distance between equivalent points on a
continuous wave

E- atomic emission
spectrum

The lowest allowable energy state of an atom

F- ground state

PEATII O™

A particle of electromagnetic radiation with no mass
that carries a quantum of energy

G- electromagnetic
radiation

ccwm--t:zea, Mecrntiih

Describe the Bohr model of the atom. How are the electrons arranged? What
are energy levels? How are photons produced? Drops to which energy level
produce visible light? What are some problems with the Bohr model?
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What is the energy of a quantum of fight ocf?rgquency 431 x 10" Hz?

E=hVv e -
= b.62E-34 (42 ) £ =\2.857 g-\q -;)

A photon has a wavelength of 662E-9 m. What is the frequency of this light?

How much energy does this photon carry?
E = he

A =14, = — .
¢ = @r3e3NGES) £ E'O £-1 ZJ

k2 €-9

How can spectroscopy be used to identify elements in the stars?
Each dement has o unique sef & ao\ecs or frequencies
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